IDENTITIES FOR THE BERNOULLI AND EULER NUMBERS AND POLYNOMIALS

T. KIM, B. LEE, S. H. LEE, S-H. RIM

ABSTRACT. In this paper, we investigate some interesting identities on the Euler numbers and polynomials arising from their generating functions and difference operators. Finally we give some properties of Bernoulli and Euler polynomials by using p-adic integral on \mathbb{Z}_p .

1. Introduction

Let p be a fixed odd prime number. Throughout this paper \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p-adic rational integers, the field of p-adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p-adic absolute value $|\cdot|_p$ is normally defined by $|p|_p = \frac{1}{p}$. Let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable function on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the bosonic p-adic integral on \mathbb{Z}_p is defined by

(1)
$$I(f) = \int_{\mathbb{Z}_p} f(x) d\mu(x) = \lim_{N \to \infty} \frac{1}{p^N} \sum_{x=0}^{p^N - 1} f(x), \quad (\text{see [11]}).$$

As is well known, the Bernoulli polynomials are defined by the generating function as follows:

(2)
$$\frac{t}{e^t - 1}e^{xt} = e^{B(x)t} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see } [14,15]),$$

with the usual convention about replacing B^n by B_n (see [1-16]). In the special case, x = 0, $B_n(0) = B_n$ are called the *n*-th Bernoulli numbers.

The Euler polynomials are also defined by the generating function as follows:

(3)
$$\frac{2}{e^t + 1} e^{xt} = e^{E(x)t} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see } [11,12]).$$

In the special case, x = 0, $E_n(0) = E_n$ are called the *n*-th Euler numbers. In the sense of fermionic, the *p*-adic integral on \mathbb{Z}_p is defined by Kim as follows:

(4)
$$I_{-1}(f) = \int_{\mathbb{Z}_{-}} f(x)d\mu_{-1}(x) = \lim_{N \to \infty} \sum_{x=0}^{p^{N}-1} f(x)(-1)^{x}, \quad (\text{see [9]}).$$

From (1) and (2), we note that

(5)
$$I_{-1}(f_1) + I_{-1}(f) = 2f(0),$$

and

(6)
$$I(f_1) - I(f) = f'(0)$$
, (see [12-15]).

By (2), (3), (5) and (6), we get

(7)
$$\int_{\mathbf{Z}_{p}} e^{xt} d\mu(x) = \frac{t}{e^{t} - 1}, \text{ and } \int_{\mathbf{Z}_{p}} e^{xt} d\mu_{-1}(x) = \frac{2}{e^{t} + 1}.$$

Thus, from (2), (3) and (7), we have

(8)
$$\int_{\mathbf{Z}_{v}} x^{n} d\mu_{-1}(x) = E_{n}, \text{ and } \int_{\mathbf{Z}_{v}} x^{n} d\mu(x) = B_{n}.$$

By (8), we easily see that

(9)
$$\int_{\mathbb{Z}_p} (x+y)^n d\mu_{-1}(y) = E_n(x), \text{ and } \int_{\mathbb{Z}_p} (x+y)^n d\mu(y) = B_n(x).$$

In [5], we have the following identities for the Bernoulli polynomials: for $m, k \in \mathbb{N}$

(10)
$$\sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{B_{k+m+1-j}(x)}{k+m+1-j}$$
$$= x^k (x-1)^m + \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}},$$

(11)
$$\sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) B_{k+m-j}(x) = x^k (x-1)^{m-1} \left((k+m)x - k \right),$$

(12)
$$\sum_{j=0}^{\left[\frac{k-1}{2}\right]} {k \choose 2j+1} \frac{B_{2k-2j}(x)}{2k-2j} = \frac{x^k(x-1)^k}{2} + \frac{(-1)^{k+1}}{(4k+2){2k \choose k}},$$

(13)
$$\sum_{j=0}^{\left\lfloor \frac{k}{2} \right\rfloor} \left(\binom{k}{2j+1} + \binom{k+1}{2j+1} \right) \frac{B_{2k+1-2j}(x)}{2k+1-2j}$$

$$= x^{k} (x-1)^{k} (x-\frac{1}{2}),$$

where [·] is Gauss' symbol.

In this paper, we give some new identities for the Euler polynomials arising from their generating functions and difference operators. These identities are correspanding (10)-(13) in the case of Bernoulli polynomials. Finally, we give new identities on the Bernoulli and Euler polynomials by using p-adic integral on \mathbb{Z}_p .

2. On identities of Bernoulli and Euler numbers

Consider x as a fixed parameter and set

(14)
$$F_x = F_x(t) = \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}.$$

Thus, by (14), we get

$$(15) e^t F_x + F_x = 2e^{xt}.$$

Let us define difference operator D as $D = \frac{d}{dt}$. Then we see that

(16)
$$e^{t}(D+I)^{k}F_{x}+D^{k}F_{x}=2x^{k}e^{xt},$$

where $k \in \mathbb{N}$ and I is identity operator.

By multiplying e^{-t} on both sides in (16), we get

(17)
$$(D+I)^k F_x + e^{-t} D^k F_x = 2x^k e^{(x-1)t}.$$

Let us take difference operator $D^m(m \in \mathbb{N})$ on both sides of (17). Then we have

(18)
$$D^{m}(D+I)^{k}F_{x}+e^{-t}D^{k}(D-I)^{m}F_{x}=2x^{k}(x-1)^{m}e^{(x-1)t}.$$

By multiplying e^t on both sides of (18), we get

(19)
$$e^{t}D^{m}(D+I)^{k}F_{x}+D^{k}(D-I)^{m}F_{x}=2x^{k}(x-1)^{m}e^{xt}$$

Let G[0] (not G(0)) be the constant term in a Laurent series of G(t). Then, by (19), we get

(20)

$$\sum_{j=0}^{k} \binom{k}{j} \left(e^{t} D^{k+m-j} F_{x}(t) \right) [0] + \sum_{j=0}^{m} \binom{m}{j} (-1)^{j} \left(D^{k+m-j} F_{x} \right) [0] = 2x^{k} (x-1)^{m}.$$

By (14), we get

(21)
$$\left(D^N F_x(t)\right)[0] = E_N(x), \quad \left(e^t D^N F_x(t)\right)[0] = E_N(x).$$

From (20) and (21), we note that

(22)
$$\sum_{j=0}^{\max\{k,m\}} {\binom{k}{j}} E_{k+m-j}(x) + {\binom{m}{j}} (-1)^j E_{k+m-j}(x)$$

$$= 2x^k (x-1)^m.$$

By (3), we get the following recurrence formula:

(23)
$$E_0 = 1, \quad E_n(1) + E_n = 2\delta_{0,n}, \quad (n \in \mathbb{Z}_+ = \mathbb{Z} \cup \{0\}).$$

From (3), we note that

(24)
$$E_n(x) = (E+x)^n = \sum_{\ell=0}^n \binom{n}{\ell} E_{\ell} x^{n-\ell} = \sum_{\ell=0}^n \binom{n}{\ell} E_{n-\ell} x^{\ell}.$$

Thus, by (24), we get

(25)
$$\frac{dE_n(x)}{dx} = n \sum_{\ell=0}^{n-1} \binom{n-1}{\ell} E_{\ell} x^{n-1-\ell} = n E_{n-1}(x).$$

By (23) and (25), we get

(26)
$$\int_0^1 E_n(x)dx = \frac{1}{n+1} \left(E_{n+1}(1) - E_{n+1} \right) = \frac{-2E_{n+1}}{n+1}.$$

Let us take definite integral from 0 to 1 in (22). Then we have

(27)
$$-2 \sum_{j=0}^{\max\{k,m\}} \frac{E_{k+m-j+1}}{k+m-j+1} \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right)$$
$$= 2(-1)^{m} B(k+1, m+1),$$

where $B(\alpha, \beta)$ is beta function which is defined by

$$B(\alpha,\beta) = \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} dt = \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha+\beta)}, \quad (\alpha > 0, \beta > 0).$$

Thus, by (27), we get

(28)
$$\sum_{j=0}^{\max\{k,m\}} \frac{E_{k+m-j+1}}{k+m-j+1} \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right)$$
$$= (-1)^{m+1} \frac{\Gamma(k+1)\Gamma(m+1)}{\Gamma(k+m+2)}.$$

Therefore, by (22), we obtain the following theorem.

Theorem 1. For $m, k \in \mathbb{N}$, we have

$$\sum_{j=0}^{\max\{k,m\}} {k \choose j} E_{k+m-j}(x) + {m \choose j} (-1)^j E_{k+m-j}(x)$$

$$= 2x^k (x-1)^m.$$

By (28) and Theorem 1, we obtain the following corollary.

Corollary 2. For $m, k \in \mathbb{N}$, we have

(29)
$$\sum_{j=1}^{\max\{k,m\}} {k \choose j} + (-1)^j {m \choose j} \frac{E_{k+m-j+1}}{k+m-j+1} = \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}} - 2\frac{E_{k+m+1}}{k+m+1}.$$

Let us take x = 0 in (10). Then we see that

(30)
$$\sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{B_{k+m-j+1}}{k+m-j+1} = \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}}.$$

By (29) and (30), we get

(31)
$$\sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{B_{k+m-j+1}}{k+m-j+1} = \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}}$$
$$= \sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right) \frac{E_{k+m-j+1}}{k+m-j+1} + 2 \frac{E_{k+m+1}}{k+m+1}.$$

Therefore, by (31), we obtain the following theorem.

Theorem 3. For $m, k \in \mathbb{N}$, we have

$$\begin{split} &\sum_{j=1}^{max\{k,m\}} \binom{k}{j} \left(\frac{B_{k+m-j+1}}{k+m-j+1} - \frac{E_{k+m-j+1}}{k+m-j+1} \right) \\ &+ \sum_{j=1}^{max\{k,m\}} (-1)^{j+1} \binom{m}{j} \left(\frac{B_{k+m-j+1}}{k+m-j+1} + \frac{E_{k+m-j+1}}{k+m-j+1} \right) \\ &= 2 \frac{E_{k+m+1}}{k+m+1}. \end{split}$$

Let m = k + 1 in Theorem 3. Then we obtain the following corollary.

Corollary 4. For $k \in \mathbb{N}$, we have

$$\begin{split} &\sum_{j=1}^{k+1} \binom{k}{j} \left(\frac{B_{2k+2-j}}{2k+2-j} - \frac{E_{2k+2-j}}{2k+2-j} \right) \\ &+ \sum_{j=1}^{k+1} (-1)^{j+1} \binom{k+1}{j} \left(\frac{B_{2k-j+2}}{2k-j+2} + \frac{E_{2k+2-j}}{2k+2-j} \right) \\ &= 0 \end{split}$$

From Theorem 3, we note that

(32)
$$2\left(\sum_{j=1}^{\lfloor \frac{k}{2} \rfloor} \binom{k}{2j-1} \frac{B_{2k-2j+2}}{2k-2j+2} - \sum_{j=1}^{\lfloor \frac{k}{2} \rfloor} \binom{k}{2j} \frac{E_{2k-2j+1}}{2k-2j+1}\right) = 2\frac{E_{2k+1}}{2k+1}.$$

Therefore, by (32), we obtain the following theorem.

Theorem 5. For $k \in \mathbb{N}$, we have

$$\begin{split} &\sum_{j=1}^{\lfloor \frac{k}{2} \rfloor} \binom{k}{2j-1} \frac{B_{2k-2j+2}}{2k-2j+2} - \sum_{j=1}^{\lfloor \frac{k}{2} \rfloor} \binom{k}{2j} \frac{E_{2k-2j+1}}{2k-2j+1} \\ &= \frac{E_{2k+1}}{2k+1}. \end{split}$$

By (22) and (27), we get

(33)
$$\sum_{j=0}^{\max\{k,m\}} (k+m-j) \left(\binom{k}{j} + (-1)^j \binom{m}{j} \right) E_{k+m-j-1}(x)$$
$$= 2x^{k-1} (x-1)^{m-1} ((k+m)x-k).$$

Let m = k. From (22), we have

(34)
$$\sum_{j=0}^{\left[\frac{k}{2}\right]} {k \choose 2j} E_{2k-2j}(x) = x^k (x-1)^k.$$

Let us take definite integral from 0 to 1 in (34). Then we have

(35)
$$-2\sum_{j=0}^{\left[\frac{k}{2}\right]} \binom{k}{2j} \frac{E_{2k-2j+1}}{2k-2j+1} = (-1)^k B(k+1,k+1) = \frac{(-1)^k}{(2k+1)\binom{2k}{k}}.$$

Therefore, by (33) and (34), we obtain the following proposition:

Proposition 6. For $k \in \mathbb{N}$, we have

$$\sum_{j=0}^{\left[\frac{k}{2}\right]} {k \choose 2j} E_{2k-2j}(x) = x^k (x-1)^k.$$

By (35), we obtain the following corollary.

Corollary 7. For $k \in \mathbb{N}$, we have

$$\sum_{j=0}^{\left[\frac{k}{2}\right]} \binom{k}{2j} \frac{E_{2k-2j+1}}{2k-2j+1} = \frac{(-1)^{k+1}}{(4k+2)\binom{2k}{k}}.$$

From (22), we can derive the following equation:

(36)
$$\sum_{j=0}^{k+1} {k \choose j} + (-1)^j {k+1 \choose j} E_{2k+1-j}(x) = 2x^k (x-1)^{k+1}.$$

The left hand side of (36) is given by

$$(37) \qquad \sum_{j=0}^{k+1} \left(\binom{k}{j} + (-1)^{j} \binom{k+1}{j} \right) E_{2k+1-j}(x)$$

$$= \sum_{j=0}^{\lfloor \frac{k+1}{2} \rfloor} \left(\binom{k}{2j+1} - \binom{k+1}{2j+1} \right) E_{2k-2j}(x)$$

$$+ \sum_{j=0}^{\lfloor \frac{k+1}{2} \rfloor} \left(\binom{k}{2j} + \binom{k+1}{2j} \right) E_{2k-2j+1}(x)$$

$$= -\sum_{j=0}^{\lfloor \frac{k+1}{2} \rfloor} \binom{k}{2j} E_{2k-2j}(x) + \sum_{j=0}^{\lfloor \frac{k+1}{2} \rfloor} \left(\binom{k}{2j} + \binom{k+1}{2j} \right) E_{2k-2j+1}(x).$$

By (36) and (37), we get

(38)
$$\sum_{i=0}^{\left[\frac{k}{2}\right]} \left(\binom{k}{2j} + \binom{k+1}{2j} \right) E_{2k-2j+1}(x) = x^k (x-1)^k (2x-1).$$

Therefore, by (38), we obtain the following theorem.

Theorem 8. For $k \in \mathbb{N}$, we have

$$\sum_{j=0}^{\left[\frac{k}{2}\right]} \left(\binom{k}{2j} + \binom{k+1}{2j} \right) E_{2k-2j+1}(x) = x^k (x-1)^k (2x-1).$$

Let us take x = 0 in (22). Then we have

(39)
$$\sum_{j=0}^{k+1} \left(\binom{k}{j} + (-1)^j \binom{k+1}{j} \right) E_{2k-j+1} = 0,$$

and

(40)
$$\binom{k}{2j} + \binom{k+1}{2j} = \frac{1}{k+1} \binom{k+1}{2j} (k-2j+1) + \frac{k+1}{k+1} \binom{k+1}{2j}$$
$$= \frac{1}{k+1} \binom{k+1}{2j} (2k-2j+2).$$

By (39) and (40), we get

$$(41) 0 = \sum_{j=0}^{k+1} \left(\binom{k}{j} + (-1)^j \binom{k+1}{j} \right) E_{2k-j+1}$$

$$= \sum_{j=0}^{\left[\frac{k+1}{2}\right]} \left(\binom{k}{2j} + \binom{k+1}{2j} \right) E_{2k-2j+1}$$

$$= \sum_{j=0}^{\left[\frac{k+1}{2}\right]} \frac{1}{k+1} \binom{k+1}{2j} (2k-2j+2) E_{2k-2j+1}$$

$$= 2E_{2k+1} + \frac{1}{k+1} \sum_{j=1}^{\left[\frac{k}{2}\right]} \binom{k+1}{2j} (2k-2j+2) E_{2k-2j+1}.$$

Thus, by (41), we obtain the following corollary.

Corollary 9. For $k \in \mathbb{N}$, we have

$$E_{2k+1} = -\frac{1}{2k+2} \sum_{i=1}^{\left[\frac{k}{2}\right]} {k+1 \choose 2j} (2k-2j+2) E_{2k-2j+1}.$$

3. p-adic integral on \mathbb{Z}_p associated with Bernoulli and Euler polynomials

Let $m, k \in \mathbb{N}$. Then, by (4) and (10), we see that

$$(42) I_{1} = \int_{\mathbf{Z}_{p}} x^{k} (x-1)^{m} d\mu_{-1}(x) + \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}}$$

$$= \sum_{\ell=0}^{m} \binom{m}{\ell} (-1)^{m-\ell} \int_{\mathbf{Z}_{p}} x^{k+\ell} d\mu_{-1}(x) + \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}}$$

$$= \sum_{\ell=0}^{m} \binom{m}{\ell} (-1)^{m-\ell} E_{k+\ell} + \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}}.$$

From (10), we have

(43)

$$I_{1} = \sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{1}{k+m+1-j} \int_{\mathbf{Z}_{p}} B_{k+m-j+1}(x) d\mu_{-1}(x)$$

$$= \sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{1}{k+m+1-j}$$

$$\times \sum_{\ell=0}^{k+m+1-j} \binom{k+m+1-j}{\ell} B_{k+m+1-j-\ell} E_{\ell}.$$

Therefore, by (42) and (43), we obtain the following theorem.

Theorem 10. For $m, k \in \mathbb{N}$, we have

$$\begin{split} &\sum_{\ell=0}^{m} \binom{m}{\ell} (-1)^{m-\ell} E_{k+\ell} + \frac{(-1)^{m+1}}{(k+m+1)\binom{k+m}{k}} \\ &= \sum_{j=1}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j+1} \binom{m}{j} \right) \frac{1}{k+m+1-j} \\ &\times \sum_{\ell=0}^{k+m+1-j} \binom{k+m+1-j}{\ell} B_{k+m+1-j-\ell} E_{\ell}. \end{split}$$

Let

$$I_{2} = \int_{\mathbf{Z}_{p}} x^{k} (x-1)^{k} (x-\frac{1}{2}) d\mu_{-1}(x)$$

$$= \sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} \int_{\mathbf{Z}_{p}} x^{2k+1-\ell} d\mu_{-1}(x) - \frac{1}{2} \sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} \int_{\mathbf{Z}_{p}} x^{2k-\ell} d\mu_{-1}(x)$$

$$= \sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} E_{2k+1-\ell} - \frac{1}{2} \sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} E_{2k-\ell}.$$

From (13), we can derive the following equation (45).

$$(45) I_{2} = \sum_{j=0}^{\left\lfloor \frac{k}{2} \right\rfloor} \left(\binom{k}{2j+1} + \binom{k+1}{2j+1} \right) \frac{1}{2k+1-2j} \int_{\mathbf{Z}_{p}} B_{2k+1-2j}(x) d\mu_{-1}(x)$$

$$= \sum_{j=0}^{\left\lfloor \frac{k}{2} \right\rfloor} \left(\binom{k}{2j+1} + \binom{k+1}{2j+1} \right) \frac{1}{2k+1-2j}$$

$$\times \sum_{\ell=0}^{2k+1-2j} \binom{2k+1-2j}{\ell} B_{2k+1-2j-\ell} E_{\ell}.$$

Therefore, by (44) and (45), we obtain the following proposition.

Proposition 11. For $k \in \mathbb{N}$, we have

$$\sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} E_{2k-\ell+1} - \frac{1}{2} \sum_{\ell=0}^{k} \binom{k}{\ell} (-1)^{\ell} E_{2k-\ell}$$

$$= \sum_{j=0}^{\left\lfloor \frac{k}{2} \right\rfloor} \left(\binom{k}{2j+1} + \binom{k+1}{2j+1} \right) \frac{1}{2k+1-2j}$$

$$\times \sum_{\ell=0}^{2k+1-2j} \binom{2k+1-2j}{\ell} B_{2k+1-2j-\ell} E_{\ell}.$$

From (4) and (5), we can derive the following equation (46).

(46)
$$\int_{\mathbf{Z}_{p}} x^{2n+1} d\mu_{-1}(x) = -\frac{1}{2n+2} \sum_{j=1}^{\left[\frac{n}{2}\right]} \binom{n+1}{2j} (2n-2j+2) \times \int_{\mathbf{Z}_{p}} x^{2n-2j+1} d\mu_{-1}(x).$$

By (46), we get

$$E_{2n+1} = -\frac{1}{2n+2} \sum_{j=1}^{\left[\frac{n}{2}\right]} \binom{n+1}{2j} (2n-2j+2) E_{2n-2j+1}, \quad for \quad n \in \mathbb{N}.$$

Now, we get

(47)
$$I_3 = 2 \int_{\mathbb{Z}_p} x^k (x-1)^m d\mu(x) = 2 \sum_{\ell=0}^m \binom{m}{\ell} (-1)^{\ell} B_{m+k-\ell}.$$

From (1) and (22), we have

(48)
$$I_{3} = \sum_{j=0}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right) \int_{\mathbb{Z}_{p}} E_{k+m-j}(x) d\mu(x)$$
$$= \sum_{j=0}^{\max\{k,m\}} \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right) \sum_{\ell=0}^{k+m-j} \binom{k+m-j}{\ell} E_{k+m-j-\ell} B_{\ell}.$$

Therefore, by (47) and (48), we obtain the following proposition.

Proposition 12. For $m, k \in \mathbb{N}$, we have

$$2\sum_{\ell=0}^{m} {m \choose \ell} (-1)^{\ell} B_{m+k-\ell}$$

$$= \sum_{j=0}^{\max\{k,m\}} {k \choose j} + (-1)^{j} {m \choose j} \sum_{\ell=0}^{k+m-j} {k+m-j \choose \ell} E_{k+m-j-\ell} B_{\ell}.$$

By (1), we easily see that

(49)

$$\int_{\mathbb{Z}_p} x^{2k} d\mu(x) = -\frac{1}{(2k+1)(k+1)} \sum_{j=0}^{\left[\frac{k}{2}\right]} (2k-2j+1) \binom{k+1}{2j+1} \int_{\mathbb{Z}_p} x^{2k-2j} d\mu(x).$$

Thus, by (49), we get

$$B_{2k} = -\frac{1}{(2k+1)(k+1)} \sum_{j=0}^{\left[\frac{k}{2}\right]} (2k-2j+1) \binom{k+1}{2j+1} B_{2k-2j} \text{ for } k \in \mathbb{N}.$$

Let us consider the following p-adic integral on \mathbb{Z}_p :

(50)
$$I_4 = \int_{\mathbb{Z}_p} x^k (x-1)^k d\mu(x) = \sum_{l=0}^k \binom{k}{l} (-1)^l B_{2k-l}.$$

From (34), we note that

(51)
$$I_4 = \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} {k \choose 2j} \sum_{l=0}^{2k-2j} {2k-2j \choose l} E_{2k-2j-l} B_l.$$

Therefore, by (50) and (51), we obtain the following proposition.

Proposition 13. For $k \in \mathbb{N}$, we have

$$\sum_{l=0}^{k} \binom{k}{l} (-1)^{l} B_{2k-l} = \sum_{j=0}^{\left[\frac{k}{2}\right]} \sum_{l=0}^{2k-2j} \binom{k}{2j} \binom{2k-2j}{l} E_{2k-2j-l} B_{l}.$$

For $m, k \in \mathbb{N}$ with $m, k \geq 2$, we have

(52)

$$I_{5} = 2 \int_{\mathbf{Z}_{p}} x^{k-1} (x-1)^{m-1} ((k+m)x - k) d\mu(x)$$

$$= 2 \sum_{j=0}^{m-1} (k+m) \binom{m-1}{l} (-1)^{l} B_{k+m-l-1} - 2k \sum_{l=0}^{m-1} \binom{m-1}{l} (-1)^{l} B_{m+k-l-2}.$$

By (33), we get

(53)
$$I_{5} = \sum_{j=0}^{\max\{k,m\}} (k+m-j) \left(\binom{k}{j} + (-1)^{j} \binom{m}{j} \right) \times \sum_{l=0}^{k+m-j-1} \binom{k+m-j-1}{l} E_{k+m-j-1-l} B_{l}.$$

Therefore, by (52) and (53), we can also obtain the following identity.

(53)

$$\begin{split} &2(k+m)\sum_{j=0}^{m-1}\binom{m-1}{l}(-1)^{l}B_{k+m-l-1}-2k\sum_{l=0}^{m-1}\binom{m-1}{l}(-1)^{l}B_{m+k-l-2}\\ &=\sum_{j=0}^{max\{k,m\}}(k+m-j)\left(\binom{k}{j}+(-1)^{j}\binom{m}{j}\right)\\ &\times\sum_{l=0}^{k+m-j-1}\binom{k+m-j-1}{l}E_{k+m-j-1-l}B_{l}, \end{split}$$

where $m, k \in \mathbb{N}$ with $m, k \geq 2$.

REFERENCES

- S. Araci, D. Erdal, J. J. Seo, A study on the fermionic p-adic q-integral on Z_p associated with weighted q-Bernstein and q-Genocchi polynomials, Abstract and Applied Analysis 2011(2011), Article Id 649248, 10 pp.
- [2] A. Bayad, T. Kim, Identities involving values of Bernstein, q-Bernoulli, and q-Euler polynomials, Russ. J. Math. Phys. 18 (2011), no. 2, 133-143.
- [3] L. Carlitz, Eulerian numbers and polynomials, Mathematics Magazine 23(1959), 247-260.
- [4] L. Carlitz, The product of two Eulerian polynomials, Mathematics Magazine 36(1963), 37-41.
- [5] L. Carlitz, Note on the integral of the product of several Bernoulli polynomials, J. London Math. Soc. 34(1959), 361-363.
- [6] I. N. Cangul, V. Kurt, H. Ozden, Y. Simsek, On the higher-order w-q-Genocchi numbers, Adv. Stud. Contemp. Math. 19(2009), no. 1, 39-47.
- [7] K.-W. Hwang, D.V. Dolgy, T. Kim, S. H. Lee, On the higher-order q-Euler numbers and polynomials with weight α, Discrete Dyn. Nat. Soc. 2011(2011), Art. ID 354329, 12 pp.
- [8] T. Kim, New approach to q-Euler polynomials of higher order, Russ. J. Math. Phys. 17 (2010), no. 2, 218-225.
- [9] T. Kim, Some identities on the q-Euler polynomials of higher order and q-Stirling numbers by the fermionic p-adic integral on Z_p, Russ. J. Math. Phys. 16 (2009), no. 4, 484-491.
- [10] T. Kim, q-generalized Euler numbers and polynomials, Russ. J. Math. Phys. 13 (2006), no. 3, 293-298.
- [11] T. Kim, Symmetry p-adic invariant integral on Z_p for Bernoulli and Euler polynomials, J. Difference Equ. Appl. 14 (2008), no. 12, 1267-1277.
- [12] H. Ozden, I. N. Cangul, Y. Simsek, Remarks on q-Bernoulli numbers associated with Daehee numbers, Adv. Stud. Contemp. Math. 18(2009), no. 1, 41-48.
- [13] C. S. Ryoo, Some identities of the twisted q-Euler numbers and polynomials associated with q-Bernstein polynomials, Proc. Jangjeon Math. Soc. 14 (2011), no. 2, 239-248.
- [14] Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions, Adv. Stud. Contemp. Math. 16 (2008), no. 2, 251-278.

[15] Y. Simsek, Special functions related to Dedekind-type DC-sums and their applications, Russ. J. Math. Phys. 17 (2010), no. 4, 495-508.

T. KIM

Department of Mathematics, Kwangwoon University, Seoul 139-701, S.Korea E-mail: tkkim@kw.ac.kr

B. LEE

Department of Wireless of Communications Engineering, Kwangwoon University, Seoul 139-701, S.Korea E-mail: bjlee@kw.ac.kr

S. H. LEE

Division of General Education, Kwangwoon University, Seoul 139-701, S.Korea E-mail: dgekw2011@gmail.com

S-H RIM

Department of Mathematics Education, Kyungpook National University, Taegu 702-701, S. Korea E-mail: shrim@knu.ac.kr